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Question Label : Comprehension



Beijing: As China tries to slow its demographic decline . women like Chen Luojin could be part of the
solution. The divorced 33-years-old lives in Chengdu , capital of the southwestern Sichuan provinee, which
legalised registration of children by unmarried women in february ., something China is considering
implementing nationwide to address record low birth rates .

The changes mean unmarried woman can take paid maternity leave and recerve child subsidies previously
only available to married couples . Crucially .Chen could access mvitro fertility (IVF) treatment legally in a
private clinic . She is now 10 weeks pregnant."Becoming a single parent is not for everyone but I am happy
with the decision ."said Chen, who works in logistics ."Equally. getting married or not is for each individual to
decide . We have liberalised the policies here and I know a lot of single women are doing IVE."

Concerned about China's first population drop in six decades and its rapid ageing . the government's political
advisers proposed in March that single and unmarried women should have access to egg freezing and IVF
treatment .But leaders haven't commented publicly on the recommendations.

Liberalising IVF nationwide could unleash more demand for fertility treatment in what is already the world's
biggest market .straining limited fertility services . Some investors in the industry see an opportunity to expand

" If China changes their policy to allow single women to have children .this can result in an increase of IVF
demand ."said Yve Lyppens . director of business development for Asia Pacific at INVO Bioscience .which is
awaiting regulatory approval to launch its IVF technology in China after signing a distribution agreement with
Guangzhou-based Onesky Holdings last year .

Shanghai and the southern Guangdong provinece have also permitted vnmarried women to register their
children but IVF services for single women remain banned

Sub questions

Question Number : 1 Question Id : 68634013063 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Leberalising IVF means : -

1. Popularising IVF treatment.

[

. Imposing fresh restrictions on IVF treatment .
3. Removing stingent conditions and allowing access to IVF treament .

4. People who availed IVF treatment to be set free from jail.

Options :

68634051601. 1
68634051602. 2
68634051603. 3
68634051604. 4

Question Number : 2 Question Id : 68634013064 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



If IVF treatment is legalised as per the passage who would get paid maternity leave and child subsidies

1. Married and unmarried women

| B

. Only unmarried women
3. Only married women

4. Single women who became single parent through IVF treatment

Options :

68634051605. 1
68634051606. 2
68634051607. 3
68634051608. 4

Question Number : 3 Question Id : 68634013065 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The correct statement given is

1. Chengdu is the capital of sichuan province.

| ]

. China has age old policies to allow single woman to have children
3. China is suffering from demographic decline.

4. Chen works in logics company

Options :

68634051609. 1
68634051610. 2
68634051611. 3
68634051612. 4

Question Number : 4 Question Id : 68634013066 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Antonym of the word liberal 1s :-

1. berserk

| o)

. bertha
3. bento
4. bigot

Options :

68634051613. 1
68634051614. 2
68634051615. 3
68634051616. 4



Question Number : 5 Question Id : 68634013067 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

According to this paragraph who is the Director of Business Development for Asia pacific at INVO bioscience
b

—

. Yev Lypeens

| S

. Yve Lyppens
3. Yiv Lyappen
4. Yve Lyippen

Options :

68634051617. 1
68634051618. 2
68634051619. 3
68634051620. 4

Question Id : 68634013062 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

Beijing: As China tries to slow its demographic decline . women like Chen Luojin could be part of the
solution. The divorced 33-years-old lives in Chengdu . capital of the southwestern Sichuan provinee. which
legalised registration of children by unmarried women in february ., something China is considering
umplementing nationwide to address record low birth rates .

The changes mean unmarried woman can take paid maternity leave and receive child subsidies previously
only available to married couples . Crucially .Chen could access invitro fertility (IVF) treatment legally in a
private clinic . She 1s now 10 weeks pregnant."Becoming a single parent is not for everyone but I am happy
with the decision ."said Chen, who works in logistics ."Equally, getting married or not is for each individual to
decide . We have liberalised the policies here and I know a lot of single women are doing IVE."

Concerned about China's first population drop in six decades and its rapid ageing . the government's political
advisers proposed in March that single and unmarried women should have access to egg freezing and IVF
treatment .But leaders haven't commented publicly on the recommendations.

Liberalising IVF nationwide could unleash more demand for fertility treatment in what is already the world's
biggest market .straining limited fertility services . Some investors in the industry see an opportunity to expand

" If China changes their policy to allow single women to have children .this can result in an inerease of IVF
demand ."said Yve Lyppens . director of business development for Asia Pacific at INVO Bioscience ,which is
awaiting regulatory approval to launch its IVF technology in China after signing a distribution agreement with
Guangzhou-based Onesky Holdings last year .

Shanghai and the southern Guangdong provinee have also permitted unmarried women to register their
children but IVF services for single women remain banned

Sub questions



Question Number : 1 Question Id : 68634013063 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Leberalising IVF means : -

1. Popularising IVF treatment.

g )

2. Imposing fresh restrictions on IVF treatment .
3. Removing stingent conditions and allowing access to IVF treament .

4. People who availed IVF treatment to be set free from jail.

Options :

68634051601. 1
68634051602. 2
68634051603. 3
68634051604. 4

Question Number : 2 Question Id : 68634013064 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[f IVF treatment is legalised as per the passage who would get paid maternity leave and child subsidies

1. Married and unmarried women

| ]

. Only unmarried women

[F¥]

. Only married women

4. Single women who became single parent through IVF treatment

Options :

68634051605. 1
68634051606. 2
68634051607. 3
68634051608. 4

Question Number : 3 Question Id : 68634013065 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The correct statement given is

1. Chengdu is the capital of sichuan provinee.

| B

. China has age old policies to allow single woman to have children

Lad

. China 1s suffering from demographic decline.

4. Chen works in logics company

Options :
68634051609. 1
68634051610. 2



68634051611. 3
68634051612. 4

Question Number : 4 Question Id : 68634013066 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Antonym of the word liberal 1s :-

1. berserk

| B}

. bertha
3. bento
4. bigot

Options :

68634051613. 1
68634051614. 2
68634051615. 3
68634051616. 4

Question Number : 5 Question Id : 68634013067 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

According to this paragraph who is the Director of Business Development for Asia pacific at INVO bioscience
>

—

. Yev Lypeens

. Yve Lyppens

| S

3. Yiv Lyappen
4. Yve Lyippen

Options :

68634051617. 1
68634051618. 2
68634051619. 3
68634051620. 4

Sub-Section Number : 2
Sub-Section Id : 686340427
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 68634013068 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the correctly spelt word from the given options:
1. TIMORIGENIC
2. TUMORIGENIC
3. TOMORGENIC
4. TUMARGENIC

Options :

68634051621. 1
68634051622. 2
68634051623. 3
68634051624. 4

Question Number : 6 Question Id : 68634013068 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correctly spelt word from the given options:
1. TIMORIGENIC
2. TUMORIGENIC
3. TOMORGENIC
4. TUMARGENIC

Options :

68634051621. 1
68634051622. 2
68634051623. 3
68634051624. 4

Question Number : 7 Question Id : 68634013069 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Transform the assertive sentence to exclamatory -
The falcon skims the air elegantly.

1. Bravo! The falcon is skimming

| ]

. Wow! The falcon skims
3. The falcon skims elegantly in the air!

4. How elegantly the falcon skims the air!

Options :

68634051625. 1
68634051626. 2
68634051627. 3



68634051628. 4

Question Number : 7 Question Id : 68634013069 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Transform the assertive sentence to exclamatory -
The falcon skims the air elegantly.

1. Bravo! The falcon is skimming

| ]

. Wow! The falcon skims
3. The falcon skims elegantly in the air!

4. How elegantly the falcon skims the air!

Options :

68634051625. 1
68634051626. 2
68634051627.3
68634051628. 4

Question Number : 8 Question Id : 68634013070 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Synonym of the word ' TRANSCEND ' is:

1. Lower

| )

. Climb
3. Cross
4. Energise

Options :

68634051629. 1
68634051630. 2
68634051631. 3
68634051632. 4

Question Number : 8 Question Id : 68634013070 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Synonym of the word ' TRANSCEND ' is:

1. Lower

| B

. Climb
3. Cross

4. Energise

Options :

68634051629. 1
68634051630. 2
68634051631. 3
68634051632. 4

Question Number : 9 Question Id : 68634013071 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

'A fully grown male horse kept for breeding' 1s called:

1. Stride

| ]

. Stooge

Lad

. Stable

4, Stallion

Options :

68634051633. 1
68634051634. 2
68634051635. 3
68634051636. 4

Question Number : 9 Question Id : 68634013071 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

'A fully grown male horse kept for breeding' 1s called:

1. Stride

| ]

. Stooge

Lad

. Stable

4, Stallion

Options :

68634051633. 1
68634051634. 2
68634051635. 3
68634051636. 4



Question Number : 10 Question Id : 68634013072 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fill in the blanks with appropriate prepositions.

A high school teacher is to face trail France after setting fire his pupils English exam papers to
protest the state education system.

1. m. of. to

| B}

. in, with. for
3. in. to. at

4. 1. on. before

Options :

68634051637. 1
68634051638. 2
68634051639. 3
68634051640. 4

Question Number : 10 Question Id : 68634013072 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Fill in the blanks with appropriate prepositions.

A high school teacher is to face trail France after setting fire his pupils English exam papers to

protest the state education system.

1. m. of. to

| B

. in, with. for
3.1n. to, at

4. in. on. before

Options :

68634051637. 1
68634051638. 2
68634051639. 3
68634051640. 4

Question Number : 11 Question Id : 68634013073 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The average age of a boy and a girl is 30 years. The ratio of their ages is 5:7. Ages of the boy and girl
respectively:

1. 30 years, 25 years

[ S
| ]
L]
Y}
L1
j<%]
=
ol

's, 35 years
3. 25 years, 40 years
4. 30 years , 42 years

Options :

68634051641. 1
68634051642. 2
68634051643. 3
68634051644. 4

Question Number : 11 Question Id : 68634013073 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The average age of a boy and a girl is 30 years. The ratio of their ages 1s 5:7. Ages of the boy and girl
respectively:

1. 30 years, 25 years

| S}
-
N
i
(1]
[=%]
-
i

s, 35 years
3. 25 years, 40 years
4. 30 years . 42 years

Options :

68634051641. 1
68634051642. 2
68634051643.3
68634051644. 4

Question Number : 12 Question Id : 68634013074 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

An article 18 marked for  200. A shopkeeper earns 25% profit even after allowing ]2%% discount on it. What

is the cost price of the article (in ¥)?

1. 180

| B}

165
3. 140

4.112.50

Options :
68634051645. 1



68634051646. 2
68634051647. 3
68634051648. 4

Question Number : 12 Question Id : 68634013074 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

: . S : . | . .
An article is marked for  200. A shopkeeper earns 25% profit even after allowing 12 —% discount on it. What
It ! P Elas

1s the cost price of the article (in )?

1. 180

| B

165
3. 140

4.112.50

Options :

68634051645. 1
68634051646. 2
68634051647. 3
68634051648. 4

Question Number : 13 Question Id : 68634013075 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In how many years will a sum of ¥ 800 at 10% per annum compounded semi-annually become ¥ 926.10?

1. | — years

1

. | — years

| ]

3.2

|
— years
3

4. 3 years

Options :

68634051649. 1
68634051650. 2
68634051651. 3
68634051652. 4

Question Number : 13 Question Id : 68634013075 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In how many years will a sum of Z 800 at 10% per annum compounded semi-annually become ¥ 926.10?

[y

.| — years

| ]

. | — years

2

fears

W | —
.,

4. 3 years

Options :

68634051649. 1
68634051650. 2
68634051651. 3
68634051652. 4

Question Number : 14 Question Id : 68634013076 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Five men working 8 hours per day take 6 days to do a work. How many days will 12 men take to do the same
work if they work for 10 hours per day?

L3
2

Options :

68634051653. 1
68634051654. 2
68634051655. 3
68634051656. 4

Question Number : 14 Question Id : 68634013076 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Five men working 8 hours per day take 6 days to do a work. How many days will 12 men take to do the same
work if they work for 10 hours per day?

L3a
2

Options :

68634051653. 1
68634051654. 2
68634051655.3
68634051656. 4

Question Number : 15 Question Id : 68634013077 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The height of a room 1s 40% of semi-perimeter of the floor. Akshay wanted to put wall paper on the walls of

his room. It cost ¥ 5.200 to put 50 cm wide wall paper at the rate of Z40/m leaving an area of 15 m? for doors
and windows . Height of room (in m) 1s:

1.3.6

| B}

. 3.8
3.4
4.3

Options :

68634051657 1
68634051658. 2
68634051659. 3
68634051660. 4

Question Number : 15 Question Id : 68634013077 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The height of a room is 40% of semi-perimeter of the floor. Akshay wanted to put wall paper on the walls of

his room. It cost ¥ 5.200 to put 50 cm wide wall paper at the rate of 240/m leaving an area of 15 m” for doors
and windows . Height of room (in m) is:

1.3.6

| S

3.8
3.4
4.3

Options :

68634051657. 1
68634051658. 2
68634051659. 3
68634051660. 4

Question Number : 16 Question Id : 68634013078 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[dentify the water - image of the combination

"96FSH52"

Qo E2H?23
69 EZH2¢
0QEZH?23
69E2HC?

Options :

68634051661. 1
68634051662. 2
68634051663. 3
68634051664. 4

[y

| )

Lad

=Y

Question Number : 16 Question Id : 68634013078 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Identify the water - image of the combination

"96FSH52"

Qo EZ2H23
69LE2H?2E
0QEZH?23
+69Ek2HC?

Options :

68634051661. 1
68634051662. 2
68634051663. 3
68634051664. 4

[y

| )

Lad

Question Number : 17 Question Id : 68634013079 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In the following figure find the number of triangles and squares ?

1. 44 triangles. 10 squares
2. 12 triangles, 14 squares
3. 27 triangles . 6 squares

4. 32 triangles . 12 squares

Options :

68634051665. 1
68634051666. 2
68634051667. 3
68634051668. 4

Question Number : 17 Question Id : 68634013079 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In the following figure find the number of triangles and squares ?

1. 44 triangles, 10 squares

| )

.12 triangles, 14 squares
3. 27 triangles . 6 squares

4. 32 triangles . 12 squares

Options :

68634051665. 1
68634051666. 2
68634051667. 3
68634051668. 4

Question Number : 18 Question Id : 68634013080 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Select the related number from the given alternatives:
DXH :4=8:: MxQ: ?

1. 12x17

| ]

. A3XLT
3. 12x16

4, 14=18

Options :

68634051669. 1
68634051670. 2
68634051671. 3
68634051672. 4

Question Number : 18 Question Id : 68634013080 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Select the related number from the given alternatives:
DXH :4=8:: MxQ: ?

1. 12x17

| )

. 13x17
3, 12x16

4. 14+18

Options :

68634051669. 1
68634051670. 2
68634051671. 3
68634051672. 4

Question Number : 19 Question Id : 68634013081 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

As per the given series 9, 15, 23, 33, 45, 59 observe the series 16, (A). (B). (C). (D). (E) and by establishing
the same relation find what will come in place of (D) ?

1. 46

| S

.60

L]

.34

4. 64

Options :

68634051673. 1
68634051674. 2
68634051675. 3
68634051676. 4

Question Number : 19 Question Id : 68634013081 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

As per the given series 9, 15, 23, 33, 45, 59 observe the series 16, (A), (B). (C). (D). (E) and by establishing
the same relation find what will come in place of (D) ?

1. 46

2.60

L%

.34
4. 64

Options :
68634051673. 1



68634051674. 2
68634051675. 3
68634051676. 4

Question Number : 20 Question Id : 68634013082 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following represents the relationship among factory. machinery and product:

| ]

LIF¥]

Options :

68634051677. 1
68634051678. 2
68634051679. 3
68634051680. 4

Question Number : 20 Question Id : 68634013082 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following represents the relationship among factory. machinery and produect:

b

Options :

68634051677. 1
68634051678. 2
68634051679. 3
68634051680. 4

Question Number : 21 Question Id : 68634013083 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The statements which are true about Governor of a state:

A. He 1s appointed by the President for five years.

B. He should be above 45 years of age and should be an Indian citizen .

C. Executive power of the state 1s vested in him.

D. Chief minister and vice Chancellor of state university are appointed by Governor of a state.

1. A. D only

| B

. A, B and D only
3. A. Cand D only

4. A. B and C only

Options :

68634051681. 1
68634051682. 2
68634051683. 3



68634051684. 4

Question Number : 21 Question Id : 68634013083 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The statements which are true about Governor of a state:

A. He 1s appointed by the President for five years.

B. He should be above 45 years of age and should be an Indian citizen .

C. Executive power of the state 1s vested in him.

D. Chief minister and vice Chancellor of state university are appointed by Governor of a state.

1. A. D only

| B

. A, BandD only
3.A.CandD only

4. A. B and C only

Options :

68634051681. 1
68634051682. 2
68634051683. 3
68634051684. 4

Question Number : 22 Question Id : 68634013084 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Out of the following . which is the highest Indian Literacy award:

1. Inanpith Award

wd

2. Sahitya Academi Award
3. Yuva Puraskar
4. Booker prize

Options :

68634051685. 1
68634051686. 2
68634051687. 3
68634051688. 4

Question Number : 22 Question Id : 68634013084 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Out of the following . which is the highest Indian Literacy award:

1. Inanpith Award

| B

. Sahitya Academi Award
3. Yuva Puraskar
4. Booker prize

Options :

68634051685. 1
68634051686. 2
68634051687. 3
68634051688. 4

Question Number : 23 Question Id : 68634013085 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LIST I Folk Dance LIST II State
A |Chhau dance I. Maharashtra
B. [Lavami 1. [Bihar
C. [Kuchipudi IT1. |Andhra Pradesh
D. |Bidesiva IV JTharkhand

Choose the correct answer from the options given below:

1. A-I. B-1I, C-I11. D-IV

| B}

AT B-IV. C-II. D-III
3. A-IV, B-1. C-III, D-II
4. A-TV. B-1IL C-I, D-II

Options :

68634051689. 1
68634051690. 2
68634051691. 3
68634051692. 4

Question Number : 23 Question Id : 68634013085 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LIST I Folk Dance LIST II State
A |Chhau dance I. PMaharashtra
B. [Lavami II. [Bihar
C. [Kuchipudi IT1. |Andhra Pradesh
D. |Bidesiva IV, Jharkhand

Choose the correct answer from the options given below:

1. A-L, B-II, C-III. D-IV

| B

CA-L B-IV. C-I1, D-ITI
3. A-IV. B-1. C-II1. D-II

4. A-TV. B-IIL C-1, D-II

Options :

68634051689. 1
68634051690. 2
68634051691. 3
68634051692. 4

Question Number : 24 Question Id : 68634013086 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Recently launched ' Bharat - NCAP ' is related to:

1. Crash safety performance of cars

| S

. Emission test protocols
3. Pollution control norms

4. Green fuel production

Options :

68634051693. 1
68634051694. 2
68634051695. 3
68634051696. 4

Question Number : 24 Question Id : 68634013086 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Recently launched ' Bharat - NCAP ' is related to:
1. Crash safety performance of cars
2. Emission test protocols
3. Pollution control norms

4. Green fuel production

Options :

68634051693. 1
68634051694. 2
68634051695. 3
68634051696. 4

Question Number : 25 Question Id : 68634013087 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who 1s the first Indian to be Miss World ?
1. Aishwarya Rai
2. Reeta Faria
3. Diya Mirza

4, Lara Dutta

Options :

68634051697. 1
68634051698. 2
68634051699. 3
68634051700. 4

Question Number : 25 Question Id : 68634013087 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who 1s the first Indian to be Miss World ?
1. Aishwarya Rai
2. Reeta Faria
3. Diya Mirza

4, Lara Dutta

Options :

68634051697. 1
68634051698. 2
68634051699. 3
68634051700. 4



Part B: Electrical Power and Energy Engineering

Section Id : 686340260
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Response :  Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 686340428
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Question Number : 26 Question Id : 68634013088 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

2z+1 , 1 .
Value of _[Tﬂ‘rf .where Cis |z = is :
Itz
1. -2m
2. 2m
3.
4.0

Options :

68634051701. 1
68634051702. 2
68634051703. 3
68634051704. 4

Question Number : 26 Question Id : 68634013088 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

2z +1 -
[ ¢ sram g ggiC =5

= HiF

1. 2m

| ]
wd



Options :

68634051701. 1
68634051702. 2
68634051703. 3
68634051704. 4

Question Number : 27 Question Id : 68634013089 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The signal flow diagram shown represents a feedback system subjected to a disturbance W (). The transfer
function relating output y(s) to w(s) with reference [R (s)= 0]. is:-

GG
I 1+ (;]{J‘lg
. GG
= G
, G
B e (.J:J_(J'g
-G,

Options :

68634051705. 1
68634051706. 2
68634051707. 3
68634051708. 4

Question Number : 27 Question Id : 68634013089 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



%ﬁmwﬁmwgﬁwwmwﬁrm%ﬁﬁ&ﬂﬂwm@mlrrﬁﬁ?flﬁ?ﬁf (s) B
Y& B3 a1a Siakd BaA [R (s)=0]. ey & Iy &1 8-

GG
: 1+ (;1(}l2
L GG,
* LN,
, G
1+ (J‘]_(J':
L G
1G5,

Options :

68634051705. 1
68634051706. 2
68634051707. 3
68634051708. 4

Question Number : 28 Question Id : 68634013090 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The maximum possible speeds in rpm at which an alternators can be driven to generate voltages at 60 Hz and
50 Hz are. respectively:

1. 7200 , 6000

| ]

. 3000 , 3600
3. 6000, 7200
4. 3600, 3000

Options :

68634051709. 1
68634051710. 2
68634051711. 3
68634051712. 4

Question Number : 28 Question Id : 68634013090 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

S TH GHIE rpm B 3 1A f599 R U% gmafcd &1 HHIY : 60 Hz 3R 50 Hz & AU ST aRA &
foru uftenford fova o1 I&ar g

1. 7200, 6000

2. 3000, 3600
3. 6000, 7200
4. 3600, 3000

Options :

68634051709. 1
68634051710. 2
68634051711. 3
68634051712. 4

Question Number : 29 Question Id : 68634013091 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The digital circuit shown in below represents:

N
« — )T

Cilk—op> Q

[y

. JK Flip-flop

-

. Clocked RS Flip-flop

[ %]

. T Flip-flop
4. Ring Counter

Options :

68634051713. 1
68634051714. 2
68634051715.3
68634051716. 4

Question Number : 29 Question Id : 68634013091 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e fear o grewiw (FSfsew) uRoy s swiar &2

\ D 0O
p
CLK—o> O
1. JK Flip-flop

| ]

. Clocked RS Flip-flop

Lag

. T Flip-flop
4. Ring Counter

Options :

68634051713. 1
68634051714. 2
68634051715. 3
68634051716. 4

Question Number : 30 Question Id : 68634013092 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Assume the incremental cost characteristics of two generates delivering 250MW as.

dh

—L=20+0.01P
dPp, :
o 14+02p
dry =

For economic operation. the generation Py and P, should be:

1.P, =P, =125MW
2.Py=209.5 MW; P, =40.5 MW
3.P;=250MW : P, =0 MW
4. Py = 40.5MW; P, = 209.5MW

Options :

68634051717. 1

68634051718. 2

68634051719. 3
68634051720. 4

Question Number : 30 Question Id : 68634013092 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



I & AHEF Ol 250MW P PR IE © DI dllvd Oed [q9vdl g

4 _20+0.01p
ap, 0 Tl
A 14+02P
dP, i

3 U= & fo1U P, SR P, &1 3G I gHI AW

1.P; =P, =125MW
2. P, =209.5 MW: P, = 40.5 MW
3.P;=250MW ; P, =0 MW
4.P, = 40.5MW: P, = 200.5MW

Options :

68634051717. 1

68634051718. 2

68634051719. 3
68634051720. 4

Question Number : 31 Question Id : 68634013093 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The value of solar constant is.

1. 1000 W/m?

| 3%]

. Zero
3. 1367 W/m?
4. 500 W/m?

Options :

68634051721. 1
68634051722. 2
68634051723. 3
68634051724. 4

Question Number : 31 Question Id : 68634013093 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



YR 38 &1 O &7 22
1. 1000 W/m?

& Q;_FC[
3. 1367 W/m?

4, 500 W/m?

Options :

68634051721. 1
68634051722. 2
68634051723.3
68634051724. 4

Question Number : 32 Question Id : 68634013094 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

UNFCCC stands for:
1. United nations Framework Control on Climate Change
2. United Nations Framework Communication on climate Change
3. United Nations Framework Convention on Climate Change

4, United Nations Framework Control on Communieation Council

Options :

68634051725. 1
68634051726. 2
68634051727.3
68634051728. 4

Question Number : 32 Question Id : 68634013094 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UNFecc fpgd fm g o gt g)
1. TAGCS A9 A deld i1 darghe 9o

 gAISCS AN HhHdd HIEYFGEH 3 drghe

[ ]

LFN]

 gAIEeS A9 Bhas B0 3H Fghe O

4. TATSCS AN WHTS Held 3 HIHg-ERH o

Options :
68634051725. 1




68634051726. 2
68634051727. 3
68634051728. 4

Question Number : 33 Question Id : 68634013095 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Dot product of two vectors is positive or negative depending on whether the angle between the

T
vectors 1s less than or greater than — .

Statement IT: Dot product 1s equal to the product of one vector and the projection of the vector on the first
one

In the light of the above statements. choose the correct answer from the options Given below:

1. Both Statement [ and Statement II are true

| ]

. Both Statement I and Statement II are false

3. Statement I 15 true but Statement II is false

4. Statement I is false but Statement 11 is true

Options :

68634051729. 1
68634051730. 2
68634051731. 3
68634051732. 4

Question Number : 33 Question Id : 68634013095 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HYA 1] Wi &1 [dg-T®a BUMTHS § 91 TS 96 58 ard IR HER Sl %‘F%mmﬁﬁﬂaﬁm%
YTsIg Bl

HY 11: [§g-T U, Ue I3 3l 30! Uge Siaw IR YA & UHH & aRIeR 8idl o
SWRIK HY- & el H, I fu U fdsedl § 9 a8 Iugad IaX &1 99 S

1. Y1 3R 1EH 9a 8
2. HYTI R ISHT T8
3. YT 1 I T, AT SYT 11 3T ©

4 PYTI HTT e, AT FUH I TT 8

Options :

68634051729. 1
68634051730. 2
68634051731. 3
68634051732. 4

Question Number : 34 Question Id : 68634013096 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one 15 labelled as Assertion A and the other is labelled as Reason R

Assertion A: For measuring the value of unknown capacitance one of the method used is the De Sauty's
Bridge which is based on comparing the two capacitances

Reason R: De-Sauty's Bridge cannot be used for measuring the value of unknown capacitance if both the
capacitors are not free from dielectric loss

In the light of the above statements. choose the most appropriate answer from the options given below:
1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

68634051733. 1
68634051734. 2
68634051735. 3



68634051736. 4

Question Number : 34 Question Id : 68634013096 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i & YA U U §, U U (Assertion A) & 39 1 [fEd § 1 g8 39P BRI (Reason R)T 3
|

SHIYDYT A: ST UIRTT S T1H B 19 b [0 FaRT 31 dTell U a1 S A13et Iq © off &l LTRarsi o1
T IR TR &

BROTR: S AT A, DI [T UIRAT BT A AU o o0 Y4 ol fohan o wava afg g1 guria
WRTaEgd 81 ¥ o ol ol

SRIK HYT & 3o B, 9 [y Y fdeedl ¥ 4 Fa8 Iuged I &l 99 SIfey
1. A SR R I 981 8 3R R. A P! Tel ARAT 8
2. A SR R GFI 981 § SR R. A BT HEl o g &
3. ATE R AT R T AT
4. ATEI T8l S APAR DI ©

Options :

68634051733. 1
68634051734. 2
68634051735.3
68634051736. 4

Question Number : 35 Question Id : 68634013097 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Choose the correct statements for synchronous Machine.

A. Synchronous machine can have a eylindrical rotor.

B. Synchronous motors are connected to the bus bars in generating stations and electrical substations to
improve power factor

. In a synchronous machine. hunting is predominantly damped by cupper losses in the stator.

. During hunting of synchronous motor, damper bars develop torque

. Hunting 1s occurred in only synchronous motors

g o

Choose the correct answer from the options given below:

1.A,B.C.D

| B

Wl
3.A.C.D.E

1. A.B.D.E



Options :

68634051737. 1
68634051738. 2
68634051739. 3
68634051740. 4

Question Number : 35 Question Id : 68634013097 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

afafad O 9 g qeadiiad U4 & fou 9el oY+ 94

A. TSI 44 B SA-TPR A Bl Tl §

B. JEISII® Hicx &l Idlg w2 4 3R [Igd SuHeyH 99 31 58 & 91y

C. TUIa® 4 B, 3iaeH &) Hfidm Wer § SR 81 & SR sarfed (&m) gkl 8
D. Jea®TioE 09 H 871 & GRF SR (3aHcd) B ad YUl Sad Sl §

E. BITT (31@¢H) Bad qedablia® Hex) 1 gidl 8

i feu U faeedi § T Ugl IR &1 98- Hifeig;

1.LA.B.C.D

2.B.C.,D,E
3.3A,C,D.E
4. A B.D.E

Options :

68634051737. 1
68634051738. 2
68634051739. 3
68634051740. 4

Question Number : 36 Question Id : 68634013098 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement I: Self-Bias and collector-to-Base circuits are examples of feedback amplifier which increase
drastically the gain of the signal.

Statement IT: Quite often. both bias compensation and stabilization techniques are used to provide maximum
bias and thermal stabilization

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are correct
2. Both Statement I and Statement II are incorrect
3. Statement I is correct but Statement II 1s incorrect

4, Statement [ 1s incorrect but Statement II 1s correct

Options :

68634051741. 1
68634051742. 2
68634051743. 3
68634051744. 4

Question Number : 36 Question Id : 68634013098 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

:ﬁaaﬁiﬂﬁqmé

HYA I WIHAT 3R SR 4 99 (STYUR) UR9Y g HRU1 Yatid & 38601 ¢ Sl Hobd disd &l U
FUTFEIad ¢

BYTI: SHUPIR TG UiaDR (&Td9fd) 3R RS0 G- G| Bl FarT HUHdn 999 3R S
QIR TEH $3 & g Sl 5

SWRIFK DY & 3Mdld H, 1= [ U fdeedl § I Tad 3ugad 3av &1 99 Sife:
1. BYTI R ST Ia 8
2. BYTI 3R 11 SHT ST T

3. PYT I e, Al PYUT I I FT &

4. PYT ITT R, AP HYT I TT B

Options :

68634051741. 1
68634051742. 2
68634051743.3



68634051744. 4

Question Number : 37 Question Id : 68634013099 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Choose the correct statements.

A. In CSI input current 1s Variable.

B. CSI requires feedback diodes.

C. Both controlled and uncontrolled switches are used in CSL.
D. CSI does not require filters.

E. CSI circuit requires large inductance.

Choose the correct answer from the options given below:

1.Band C

| ]

.Cand E
3. BandD
4. A.B.E

Options :

68634051745. 1
68634051746. 2
68634051747.3
68634051748. 4

Question Number : 37 Question Id : 68634013099 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

el HYA I
A, csIH. a9 yRT 99t et

B. CSI . GFHRUI SIS &t SHIaRgdd gldl 6|
c. cs1 8. gFl fAg=or 3R sifdau Reg mam feu e &
D. CSI H fireex @1 awgdar 7el gidl
E. €SI IROYH 34f¥e Ut St mawadhdr sidl ¢
19 fau ¢ famedl 7 9 96l 9T &7 =8 i
1.B 3R C
.C3RE

3.B3RD

b2

4 A B.E

Options :
68634051745. 1



68634051746. 2
68634051747. 3
68634051748. 4

Question Number : 38 Question Id : 68634013100 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Power in waves 1s directly proportional to the square of its amplitude and inversely proportional
to the period of motion

Statement IT: Compound to open cycle system a closed cycle OTEC system has higher working pressure in
boiler/ turbine and lower specific volume of working fluid

In the light of the above statements. choose the correct answer from the options Given below:

1. Both Statement I and Statement II are true

2. Both Statement I and Statement II are false

3. Statement I 15 true but Statement II 1s false

4, Statement I is false but Statement II is true

Options :

68634051749. 1
68634051750. 2
68634051751. 3
68634051752. 4

Question Number : 38 Question Id : 68634013100 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HY I TN B Qfad, S & a¥ & FHEFUI AR Tl & BIad| adaqTurd! sidl o

DY Gol 9 1 B ga- § 65 9 (OTEC) Mg & &iUH exag 4 3= UaIeH amd 3R Jare
%a &1 (44 oy s g e

SWRIH DY & 3dld |, A" f3U 7Y fasedi § U Ted e Ia &1 99 SifTu:
1. HYTI R ISH Id 8
HYF1 AR 1A AT E

HYT I gA T AfpT Y I 3T ©

b2

L]

4 PYTI OIS, AP T PYT I TAE

Options :

68634051749. 1
68634051750. 2
68634051751. 3
68634051752. 4

Question Number : 39 Question Id : 68634013101 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Energy yield ratio is the ratio of energy consumed to the energy produced

Statement II: Primary energy sources have higher value of energy yield ratio

In the light of the above statements, choose the correct answer from the options Given below:

1. Both Statement I and Statement II are true
2. Both Statement [ and Statement II are false
3, Statement I is true but Statement II is false

4. Statement I 1s false but Statement II 1s true

Options :

68634051753. 1
68634051754. 2
68634051755. 3
68634051756. 4



Question Number : 39 Question Id : 68634013101 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i & By ST U &

DY I IS GRIYT SATd I YT 3R Foil Sedor T $91d 6|

BY 11: WP IS Tl 1 ol URTHT BT 0 3= Sl & |

SWRIF DY & 3ald H, 1= U U fadedl § I Tad 3ugad 3ar &1 99 Sife:

1. Y1 3R U SH 9d &
2. YT AR ISHT 3T 8
3. YT I IS, AT U 11 3§

4. PYTI T . AP T HYT I T ©

Options :

68634051753. 1
68634051754. 2
68634051755. 3
68634051756. 4

Question Number : 40 Question Id : 68634013102 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1L¥=[QH}J>L1{1LwM1qq=E;j

Then number of linearly independent Rows are:

1.0

| ]
—

in
4. n-1

Options :

68634051757. 1
68634051758. 2
68634051759. 3
68634051760. 4

Question Number : 40 Question Id : 68634013102 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e x=[a,|.izLj<n oy=i-j
& 1Y B, 91 XRaw aad dicaal o g a1 g

1.0

2
—_

3.n
4, n-1

Options :

68634051757. 1
68634051758. 2
68634051759. 3
68634051760. 4

Question Number : 41 Question Id : 68634013103 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The first two rows in the Routh table for characteristics equation of a certain closed loop control system are
given as:-

s (1 [(PK+3)
g5 K |4

The range of K for which the system is stable 1s-
1.-20=K <05
2.0<K<05
3.0<K<uw
4 05<K=<wm

Options :

68634051761. 1
68634051762 2
68634051763. 3
68634051764. 4

Question Number : 41 Question Id : 68634013103 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



el <iq a1 o & S wHieRur & g I3y qifereT & use &1 dfdal 478 §

g3 1 [2K+3)

s? K |4
K &1 9 forgds forg o =l 8 aar g

1.-20<K<0.5

2.0<K <05
3.0<K<m
405<K<w

Options :

68634051761. 1
68634051762. 2
68634051763. 3
68634051764. 4

Question Number : 42 Question Id : 68634013104 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The flux involved in the emf equation of a transformer has

1. rms value
2. maximum value
3. total value
4. average value

Options :

68634051765. 1

68634051766. 2

68634051767. 3
68634051768. 4

Question Number : 42 Question Id : 68634013104 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



0% JUTRD (CFIBIHR) & emf THIHI0 T T Fia o1 89

1. rms HIH
. H¥&HaH °AH

A
4. Arga T

Options :

68634051765. 1
68634051766. 2
68634051767. 3
68634051768. 4

[ ]

L

Question Number : 43 Question Id : 68634013105 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The average value of the half-wave rectifier 1s given as:

J

Options :

68634051769. 1
68634051770. 2
68634051771. 3
68634051772. 4

Question Number : 43 Question Id : 68634013105 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



3¢} T FepaHRl &7 19d 9H |1 82

H
B

&
(]

| 5]

Options :

68634051769. 1
68634051770. 2
68634051771. 3
68634051772. 4

Question Number : 44 Question Id : 68634013106 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

In a three phase voltage source inverter operating in square wave mode, the output line voltage is free from

1. 3* harmonic

| ]

- 78 harmonic
3. 11" harmonic

4. 13" harmonic

Options :

68634051773. 1
68634051774. 2
68634051775. 3
68634051776. 4

Question Number : 44 Question Id : 68634013106 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



U A YIaRl [a0 e Wid Widade ol o o<l [a4T 8 vaiad o, o Fid g fayd Gad <9 o o1 gl
1. TSR SXeTP

[ ]

. gIad] sUd®

L

URedl gl

. REdl gIdS

Options :

68634051773. 1
68634051774. 2
68634051775. 3
68634051776. 4

=,

Question Number : 45 Question Id : 68634013107 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The value of solar radiation in summer is maximum on the surface having inclination angle equal to.

1. Latitude angle

| ]

. Altitude angle
3. Zenith angle
4. Surface azimuth angle
Options :
68634051777. 1
68634051778. 2

68634051779. 3
68634051780. 4

Question Number : 45 Question Id : 68634013107 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
il & IR fafol 39 wag W ifiead gl ¢ /T Sifa 10 SRieR gl ©
1. &R DI &P
 SAdI DI D
R BT
g B

[ ]

L]

o+

Options :
68634051777. 1



68634051778. 2
68634051779. 3
68634051780. 4

Question Number : 46 Question Id : 68634013108 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Method of estimating the total product cost by taking into account the whole life cycle of the product as well
as the direct and external cost 1s.

1. Payback period

[ ]

. Life cycle costing
3. Net Present Value

4. Investment

Options :

68634051781. 1
68634051782. 2
68634051783.3
68634051784. 4

Question Number : 46 Question Id : 68634013108 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Td MG Yed 1. quf Sifa 9 g Hed aul S1el (H1fed) Ted &1 &1 1 38 &R Hdad d3- ol fafd
waﬁaﬁﬁﬂ%a

—

 HTTdH BT

. it =sh Hedicp-
fad (o) aanm I
4. frdw

[ ]

[¥¥]

Options :

68634051781. 1
68634051782. 2
68634051783. 3
68634051784. 4

Question Number : 47 Question Id : 68634013109 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement I: If Matrices A is orthogonal then Determinant of Ais+ 1 1e [A/=+1

Statement II: If Matrices A has Determinant of A is + 1 1.e |A| =+ 1. then matrice A is orthogonal
In the light of the above statements, choose the correct answer from the options Given below:

1. Both Statement I and Statement IT are true
2. Both Statement I and Statement II are false
3. Statement I is true but Statement II 1s false

4. Statement I is false but Statement I1 1s true

Options :

68634051785. 1
68634051786. 2
68634051787. 3
68634051788. 4

Question Number : 47 Question Id : 68634013109 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
SR AICACR) IS
HUF 1. TfS Tog A Ta® 3 A BTAROE + 1 3Ufd (Al==+1
HYA I1: Tl ST0E A BTIRIUG + 15 3Ufd Al + 1 0l STE A dile® gl
SIRIK HY & 3dlie H, < Gy Y fasedl ¥ 3 968 Sugad IR &I 99 S
1. HYF1 R 11 3HI T &
2. B3R I EH] ST

3. YT I IA S, Al YT 11 A

4 PYTI T 8. AT PUT I TA &

Options :

68634051785. 1
68634051786. 2
68634051787. 3
68634051788. 4

Question Number : 48 Question Id : 68634013110 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Consider the correct statements in respect of the thermoelectric instruments. The correct sequence i1s:

A. They indicate the rms value of current or voltage

B. They suffer from waveforms errors

C. They can be used for frequency range of the order of MHz
D. They have a low overload capacity

E. They have a high accuracy

Choose the correct answer from the options given below:

1.A,B.C.D

J

CALCILVE
I ACHE
4.C.B.E.A

Options :

68634051789. 1
68634051790. 2
68634051791. 3
68634051792. 4

Question Number : 48 Question Id : 68634013110 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g -degd 2ol & Ha 1 9El Syl B 1 1 @Y, 35T 951 PH E -

A.éWﬂTﬁW%lﬂlsWﬁm%mﬁﬁ%)

B. 3 RTIT Ieq B I £

C.d MHz ®Ifc & g U= & forg ygi e o1 9 3
D. 381 AfIOR Uik R g &

E. 3951 gUiuGdI 3= gl g |

i feu U fasedi § O ggl IR &1 98- Difoig;

1.4 B,C.D
2ACDE
3.C.A.B.E
4.C.B.E.A

Options :

68634051789. 1

68634051790. 2

68634051791. 3
68634051792. 4



Question Number : 49 Question Id : 68634013111 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: In a magnetic field, the force on a current carrying conductor is F = BII.

Statement II: If the current carrying conductor 1s placed at an angle 6 with the magnetic field. So F =BII
Sin 6

(Where F: Force. B = flux density. [ =area. I = the magnitude of current)
In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are correct

2. Both Statement I and Statement II are incorrect

3. Statement [ is correct but Statement IT is incorrect

4, Statement [ 1s incorrect but Statement I is correct

Options :

68634051793. 1
68634051794. 2
68634051795.3
68634051796. 4

Question Number : 49 Question Id : 68634013111 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HYTI: TP 11 [orgd [3gd YRT Yaled &1 36! & oie 94 Jraihd & T @1 &Il § o1 S9 IR A1 381
|0 F=BII

BY I1: TS U drae [ored ([dggd URT Waled 81 <61 ¢ @l Taied &3 8 §9 e 3@[ Idl § [ 9P
BIU IrElhy &3 & T 6 ¢ ol o1 361 96 F=BII Sin 6

(T8I F: 01 . B = T 97 , [ = &ABT [ = YRT PT IRHATY)
SIRIK HY & 3l H, -9 Gy Y fasedl ¥ 9 969 Iuged IR &1 99 Sl

1. YT 3R 11 3H 9 8
2. PYTI R I SH SFTE
3. BYT I 9 ©. AfT HYT I 3T &

4. PYTI TS, AP T PYT I TAE

Options :

68634051793. 1
68634051794. 2
68634051795.3
68634051796. 4

Question Number : 50 Question Id : 68634013112 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements: one 1s labelled as Assertion A and the other is labelled as Reason R
Assertion A: A 64-input Mux can be built by using eight 8-input Mux's
Reason R: Any six variable function can always be implemented by a multiplexer with six address lines

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both A and R are correct and R is the correct explanation of A
2. Both A and R are correct but R NOT the correct explanation of A
3. A 1s correct but R is not correct
4. A 1s not correct but R is correct
Options :

68634051797 1
68634051798. 2



68634051799. 3
68634051800. 4

Question Number : 50 Question Id : 68634013112 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

-9 & $U AU T §, TP SHUDYUA (Assertion A) P ¥U H ARG § O GORT SHD DRI (Reason R)d ¥
o

HIHYUT A: TP 64- 92T (FTYC)Mux BT 313 8- (3792 T TN B P G131 S el o

BRUR: Bl 6 TR B D] gHY UD dgHdbd, T: USS I (TdN) 151 & gRI SRII-ad (4501 o Fbal o
BRI DY & Tl H, - 34U MU fdeedi # U G SUgE I &1 99 Bifull

1. A SR R GHI 961 § R R. ADI el RAT 8

2. A SR R FI Wl € SR R. A BT UEl e el &

3. ATRI R OfT R TR T

4 ATSI el s OfPTR Tol &

Options :

68634051797. 1
68634051798. 2
68634051799. 3
68634051800. 4

Question Number : 51 Question Id : 68634013113 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement I: In 120° conduction mode voltage source inverter. phase voltage waveforms are quasisquare in
nature

Statement II: In 1807 conduction mode voltage source imverter, phase voltage wave forms are eight step in
nature

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are correct
2. Both Statement I and Statement II are incorrect
3. Statement I is correct but Statement II 1s incorrect

4, Statement [ 1s incorrect but Statement II is correct

Options :

68634051801. 1
68634051802. 2
68634051803. 3
68634051804. 4

Question Number : 51 Question Id : 68634013113 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e & By Ry T B

HYAL: 120°F104 His (faen) faue wid wiadms O WiawiT [qy4a aey, Ueid 8 aiyT dFiaed oldl 6
HYA 11: 180°ATaA ATS (e fane Wi ufaae & wawl [§ud avey. Ueia & S g g
SWRIK HY & 3clie H, i< & Y fasedl § 8 a9 Iugad a3 &l 99 SifolL:

1

HU1 IR N T E

-ﬁu:naﬁ?naﬁ:ﬁw?:r%
3. BYT 1 A §. AfT SYT I 3T &

4. PYT IS, AP T FYT I I

Options :

68634051801. 1
68634051802. 2
68634051803. 3
68634051804. 4



Question Number : 52 Question Id : 68634013114 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The statements which are correct with referred to solar cell are:

A The short circuit current of a solar cell changes logarithmically with radiation

B. At maximum power point of the solar cell the product of voltage and current are maximum
C. Energy pay back period of a single crystal silicone cell 1s 10 to 20 years

D. At maximum power point of the solar cell both voltage and current are maximum

E. Energy pay back period of a single crystal silicon cell 15 1 to 3 years

Choose the correct answer from the options given below:

1. C. D only

| ]

.B. C only
3.B.E only
4. A. D only
Options :
68634051805. 1
68634051806. 2

68634051807. 3
68634051808. 4

Question Number : 52 Question Id : 68634013114 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SR A0 & o 2 e P 9T

A. TP IR 9 &t @Y uRgy YR fafeul & 1y oy nivifey 9 4 giafdd gidl §
B. 9R 9d & 3ffereay () gfed fdg 4= favd 3R UR1 &1 guEwd fedn gidl e
C. U9 UHd e Afa®! - 3d &1 3l Y S1d 10 9 20 a9 gidT 8

D. IR a0 & fean i) wfed fie = fava ik yrr ST sfieag g1 8

E. U® U&hd fped R Ia @ Sof Y 1 §3 a8

=i fau Tt faeedi § U U8l 3TR 31 994 DI
1.$auC, D
2.%qd B.C
3. $dd B, E
4.%ad A, D

Options :
68634051805. 1
68634051806. 2



68634051807. 3
68634051808. 4

Question Number : 53 Question Id : 68634013115 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Sustainability in any process 1s to maintain the process indefinitely

Statement II: For sustainable development environment damage rate should be greater than environment
recovery rate

In the light of the above statements. choose the correct answer from the options Given below:

1. Both Statement I and Statement II are true

2. Both Statement I and Statement II are false

3. Statement I 15 true but Statement 11 1s false

4. Statement I 1g false but Statement II 1s true

Options :

68634051809. 1
68634051810. 2
68634051811. 3
68634051812. 4

Question Number : 53 Question Id : 68634013115 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
-4 3l Py lRg e 8
DY I fordt upH & SuRiiadr, weH &1 S &1d 9% U 3@ & U el
PY I HURUIY G & fo7g waiarur affd a3 gaiaror wiikier § i gl =mieu|
SIRIK HY & e H, i< Gy Y fdsedl ¥ 3 968 Iugad IR &I 99 S
1. PYT1 3R I SH TT &
2. BYA1 IR I EH] ST

3. PYT I I S, AT PYT 11 A

4. PYTI T 8. AT PUT I T &

Options :
68634051809. 1



68634051810. 2
68634051811. 3
68634051812. 4

Question Number : 54 Question Id : 68634013116 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
For the function f (x.y)=x"-y’+xy defined on R? the point (0.0) is:
1. Local minimum
2. Neither local minimum nor a local maximum
3. Local Maximum

4, Both local minimum and local maximum

Options :

68634051813. 1
68634051814. 2
68634051815.3
68634051816. 4

Question Number : 54 Question Id : 68634013116 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
WA £ (ry)=xt-y>+xy Ol R2 OR GRYISG 8, & e fdg (0.0 8:
1. R A
A R AT SR el R it
W AHfHaH
R AT SR R SHHan g

[ ]

L¥ ]

=

Options :

68634051813. 1
68634051814. 2
68634051815.3
68634051816. 4

Question Number : 55 Question Id : 68634013117 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The dimension for conduectivity (c) 1s.

LAl

| ]

M LA T2 A
3R TR A
4. ML3T? A%

Options :

68634051817. 1

68634051818. 2

68634051819. 3
68634051820. 4

Question Number : 55 Question Id : 68634013117 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ATl B [0 g2

G s ot e O

| R

MILETRAY

L¥N]

A
4. ML T3 A

Options :

68634051817. 1
68634051818. 2
68634051819. 3
68634051820. 4

Question Number : 56 Question Id : 68634013118 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In the given circuit. current through 30 resistor is equal to.

Ay A
10 30

e gzg gm H1v

1.0.20 Amp

| ]

. 0.25 Amp
3.0.022 Amp
4. 0.60 Amp

Options :

68634051821. 1
68634051822. 2
68634051823. 3
68634051824. 4

Question Number : 56 Question Id : 68634013118 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

feumu ooy 30 & uferiy 3 vaifed g ardl faggd eRT T @2

A A
10 30

1 Amp () § o §4Q @1V

[ B

J =
S o
[ ] [ g
Lh =

3.0.022 TR
4. 0.60 TR

Options :
68634051821. 1



68634051822. 2
68634051823. 3
68634051824. 4

Question Number : 57 Question Id : 68634013119 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The relationship among the emitter capacitance (Ce). the diffusion capacitance (Cp,) and the transition

capacitance (Cr,) cs given by:

1.Ce= CDE +CT'5.‘

2. Cpe=CotCre

(%]

. C1e~CCpe

" (1._- _ (:Ma x( :]"l'
Cpe +Cre

Options :

68634051825. 1
68634051826. 2
68634051827. 3
68634051828. 4

Question Number : 57 Question Id : 68634013119 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Soid HTRAT (Ce). FEERUT 41l (Cpy,) SR HHHT U@l (Cp,) & & Hay fear o &:
1. Ce = Cp, +Cpe
2. Cpe= Ce7Cre
3. Cp=C+Cp.

& o= (‘IMJ x( '1',';»
: Cpe +Cre

Options :
68634051825. 1
68634051826. 2

68634051827. 3
68634051828. 4

Question Number : 58 Question Id : 68634013120 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Identify the location of fault in the power system shown in the figure below. A sustained 3- @ fault occurred.
(The voltage and current phasors. after the natural transients have died down are also shown.)

= 1 Transmission 1
Vi ne ¢34
& P Q 8
B
—=_  Transmission S

—

. Location Q

| ]

. Location P
3. Location S

4. Location R

Options :

68634051829. 1
68634051830. 2
68634051831.3
68634051832. 4

Question Number : 58 Question Id : 68634013120 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=i feu U o 7. U wifek 3 # Si9 &t Safuf ugani=u| s HaRUiY 3- ¢ 3N S gidl 6 | Wdhas
&TOTeBI3M & 915 faHd 3R YT TR 9AT 8 oild § ordl o 1 feaman mar g

- T Transtmission T
N e <3
= P 2 =
R
—=_ Transmission S
Ig line I4

. 3fafiufd Q
. fafufa p
3. fafufd s
4. JfarYfT R

Options :

68634051829. 1
68634051830. 2
68634051831. 3

[a—y

[ ]



68634051832. 4

Question Number : 59 Question Id : 68634013121 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If the wind speed at a site 15 6 m/s for half of the year and 10 m/s for the rest of the year calculate the energy
content in a year.

1. 6524.5 kWh/m?

| ]

.6524.5 Wh/m?
3.5326.1 kWh/m?

4, 5326.1 Wh/m?

Options :

68634051833. 1
68634051834. 2
68634051835. 3
68634051836. 4

Question Number : 59 Question Id : 68634013121 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gl fordt ®iet U UaH (@) a6 414, § SR g8 o1 9 & forg 10 4. © df g s & Il 97 &
Ui

1. 6524.5 kWh/m*

| R

.6524.5 Wh/m?
3.5326.1 kWh/m?

4. 5326.1 Wh/m?

Options :

68634051833. 1
68634051834. 2
68634051835. 3
68634051836. 4

Question Number : 60 Question Id : 68634013122 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The currect sequence of countries in increasing order of their per capita emissions of carbon dioxide at
present:

1. India. Japan. USA. China
2. India. China. Japan. USA
3. China. Japan. India. USA

4. China. India. Japan. USA

Options :

68634051837. 1
68634051838. 2
68634051839. 3
68634051840. 4

Question Number : 60 Question Id : 68634013122 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gaqH §, Uid cafdd Bre e & 93 gU hH & SR, <21 B Jel oY 1 g7
1. YR, 9. g U T, 99

[ ]

. YRd. 9. 9UF. g U9 T

L

.. 99, 4RA. g TH T
4, 9, YRd, WM. 09T

Options :

68634051837. 1
68634051838. 2
68634051839. 3
68634051840. 4

Question Number : 61 Question Id : 68634013123 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII

A |Singular Matrix I. |Determinant 1s always one.

fi: b mad Bvnnenae Matix [ Digona_l ele:_nen‘r are necessanly either
: purely imaginary or zero

C. |Skew-Hermirian Matrix | III. [Eigen values are always Real

D |Orthogonal Matrix IV [Determinant 1s always zero

Choose the correct answer from the options given below:

1. A-I. B-II. C-1II, D-IV

[ ]

CA-IL B-IV, C-1. D-III

L#N]

ATV, B-ITLL C-I1, D-1
4. A-III. B-1. C-IV. D-II

Options :

68634051841. 1
68634051842. 2
68634051843. 3
68634051844. 4

Question Number : 61 Question Id : 68634013123 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=il 191 941 11 9 faH iy

T I gt I
5 mﬁm L [arfe giEn 1 g e
p [cfde wniEa || [fawo smua sl e & a1 g
EE | iea gl IR A I El
o [auaiten g [P0 A gHRI arifaa gid
g k
D. [difd® HTofg Iv. [aRftre gH= X1 aidl &
frafad fasedl O T el 3ar &1 99+ DIfer -

1. A-L, B-II, C-III, D-IV
2. AT B-IV. C-1. D-III
3. A-IV, B-IIL. C-II. D-1I
4. A-III. B-1, C-IV, D-II
Options :
68634051841. 1

68634051842. 2
68634051843.3



68634051844. 4

Question Number : 62 Question Id : 68634013124 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: For a unity feedback system with open-loop transfer function

G(s)=—2t— 1<0.7:

s(s+2z w,)

Statement I: Phase margin 1s explicitly indicative of damping ratio

Statement II: Resonance peak is explicitly indicative of damping ratio

In the light of the above statements. choose the correct answer from the options Given below:

1. Both Statement I and Statement IT are true
2. Both Statement I and Statement II are false
3, Statement I 1s true but Statement II 1s false

4. Statement I is false but Statement I1 is true

Options :

68634051845. 1
68634051846. 2
68634051847.3
68634051848. 4

Question Number : 62 Question Id : 68634013124 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TS Ued U4 HRUT o7 Gal-um Siaid Ba- & 91y, & g

W
G(s)=——n _ 1<0.7:
1(5) .\'{-"_+2: H,”J

BY I Al URIR, GHUY U H HTHEA SUId D] GaP ¢ |

DY I1: 3ATE AR GHIY 39 ¥ SaHEH 30d & 4a9® o |

SRIK HY & 3dle H, i< Gy Y fasedl ¥ 9 968 Sugad IR &1 99 S
1. B3R 1 EH 9 &

PYT 1 AR 1 SHT A §

. PUYT 1 A B, AP DY 11 3T §

[

L]

4. YT 3EI e, AT Py I 9T ©

Options :

68634051845. 1
68634051846. 2
68634051847. 3
68634051848. 4

Question Number : 63 Question Id : 68634013125 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: At the resonant frequency. the impedance of a series RLC circuit is zero

Statement II: In a parallel GLC circuit, increasing the conductor G. results in increase in Q factor

In the light of the above statements. choose the correct answer from the options Given below:

1. Both Statement I and Statement IT are true

J

. Both Statement I and Statement II are false

3. Statement I 1s true but Statement II 1s false

4. Statement [ is false but Statement II is true

Options :

68634051849. 1
68634051850. 2
68634051851. 3



68634051852. 4

Question Number : 63 Question Id : 68634013125 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R pARTME:

HY I STAET SGRT IR U AUihH RLC IRIY & Widarel I 3l 3

BY I1: T YR &4 1, GLC YRYY B, Fedd G 9311 Y. Q TUIP (°Ueh) §¢ Slal ¢
SWRIF BYH & 3D H, 1= iU U faeedl § I Tad 3ugad 3a &1 99 SifT:

1. YT 3R U SH 9T &
PUTT AR 11T T §

PYT I AT, AT YT I IET &

| ]

L]

4. PYTI ITT . AP HYF I T ©

Options :

68634051849. 1
68634051850. 2
68634051851. 3
68634051852. 4

Question Number : 64 Question Id : 68634013126 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LIST I LIST I
(EPRESSION-I) (EXPRESSION-IT)

A |4BC + ABC + ABC L |A+BC

B. | ABC + ABC + BC L |A(B+C)

C. | ABC + ABC + ABC + ABC | 1L | BT

D.| AR + AB + ABC IV [4B + BC + AC

Choose the correct answer from the options given below:

1. A-II. B-1. C-IV. D-III

| ]

CA-IV. B-ILL C-IIL. D-I

3. A-IL B-II1. C-IV, D-I

4. A-IV. B-1, C-II. D-III



Options :

68634051853. 1
68634051854. 2
68634051855. 3
68634051856. 4

Question Number : 64 Question Id : 68634013126 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

el 1 61 gl 11 9 fiar Sifen
1 T 11
(EHF -1) (D11
A. |ABC + ABC + ABC I |A+BC
B. | 4BC + ABC + BC L |A(B+C)
C | ABC + ABC + ABC + ARC| IIL RC
D. | AB + AB + ABC IV. |AB + BC + AC
fafeiad fdsedi § T Tgl 3R &1 904 Hifelt

1. A-II. B-I. C-IV. D-III
2. A-IV, B-III. C-I1. D-1I
3. AL B-II1. C-IV. D-I
4. A-IV, B-I. C-1I. D-IIT

Options :

68634051853. 1
68634051854. 2
68634051855. 3
68634051856. 4

Question Number : 65 Question Id : 68634013127 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement I: A Power MOSEET is current controlled device and requires very high input current.
Statement II: IGBT combines the advantages of BITs and MOSFETs.

In the light of the above statements, choose the correct answer from the options Given below:

1. Both Statement I and Statement IT are true

J

. Both Statement I and Statement II are false
3. Statement I is true but Statement II 1s false

4. Statement [ is false but Statement II is true

Options :

68634051857. 1
68634051858. 2
68634051859. 3
68634051860. 4

Question Number : 65 Question Id : 68634013127 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

S pyTfeu U §:

U 1: U YR ORI fdd MOSEET © ol 3=3 a1 YRT &t 3agehal 8idil 6|
@ I1: IGBT. BITs 31k MOSFETs G| & @y &1 g6 Sl 6|

SIRIK HY & 3dlie H, < Gy Y fasedl ¥ 3 968 Sugad IR &I 99 S

1. PYT1 3R 13HT I &
HYF R U EH ST E

3. PYT I I 8. AT PYUTII A &

| S

4, PYTI AL, AP TP I I ©

Options :

68634051857. 1
68634051858. 2
68634051859. 3
68634051860. 4



Question Number : 66 Question Id : 68634013128 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List [ with List IT

LISTI LISTII
(Wame of power plant) (Plant feature)
A |Thermal 1. High operating cost
B. [Nuclear II. High capital cost
C. Hydro III. High plant life
D. |Diesal IV. [High fuel transtoortaicr cost

Choose the correct answer from the options given below:

1. A-III. B-1. C-IV, D-II

[ ]

CA-IV, B-I1, C-I11, D-1
3. A-IIIL, B-I1. C-IV. D-I
4. A-IV. B-1. C-I1I. D-II

Options :

68634051861. 1
68634051862. 2
68634051863. 3
68634051864. 4

Question Number : 66 Question Id : 68634013128 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 11 g4 11 9 faH ifey

T I A1
ERGIE] I |9 UdTa Hed

A
B. [q3H 1. [fiEUsH @ 3= dFTd

C. [Seig 111 [947 &l 3= 3aly

D. 3 IV. [58F URasd @ 3o arq|
frafeiRad fasedi o T Tel IR &1 99 HIfol ;

1. A-TIIL. B-1. C-IV. D-II

|

CA-IV, B-I1, C-I11, D-1
3. A-III. B-1II. C-IV. D-I
4. A-IV, B-1, C-III, D-II

Options :

68634051861. 1

68634051862. 2
68634051863. 3



68634051864. 4

Question Number : 67 Question Id : 68634013129 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement [: Carbon dioxide (CO,) 1s the only gas responsible for global warming.
Statement II: Most carbon dioxide (CO,) emission are from the use of fossil fuel.
In the light of the above statements, choose the correct answer from the options Given below:

1. Both Statement I and Statement II are true
2. Both Statement I and Statement II are false
3. Statement I is true but Statement II 1s false

4. Statement I is false but Statement II 1s true

Options :

68634051865. 1
68634051866. 2
68634051867. 3
68634051868. 4

Question Number : 67 Question Id : 68634013129 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
R T RTE:
HY I BIE SEATTSS (CO,) T &l Had YH ST WU & U StRadl §
HY I1: HUPH R BIE- SIS AHTSS (CO,) BT IToi- SNared S8 P FaT I §lal o
SRIK HYA & 3Hdle H, i< U Y fdsedl ¥ 9 968 Sugdd IR &I 99 S
1. B 1 3R 1 EH 9 &
2. B3R I EH ST

3. PYTIIA S, AT YT I T &

4. YT 3T e, AfbT P I 90 ©

Options :
68634051865. 1
68634051866. 2



68634051867. 3
68634051868. 4

Question Number : 68 Question Id : 68634013130 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If the complete solution of the ordinary differential equation

"
d7y dy ; i -
—+a—+Py=01s y=c" +ce

dx dx

3x

2

Then the values of o and B are;

1. p=4, oc=3

| ]

B=3. cc=4
3. p=3. x=
4. p=4, o=

Options :

686340518609.
68634051870.
68634051871.
68634051872.

AW N~

Question Number : 68 Question Id : 68634013130 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gfd U Q= Siadd SHIBRUl

2 r bl
@) +l’ij—}+ﬁ\’—0
¢

Y

oy
G| EI;UfETI % y=ce "+ ('2(-'_3"'-1

dl o< IR B HTHA T 82

1. p=4, oc=3

[ ]
=
",l.le
2
A

4. p=4., 0c=4

Options :

68634051869. 1
68634051870. 2
68634051871. 3



68634051872. 4

Question Number : 69 Question Id : 68634013131 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

A type -1 plant is changed to type -2 feedback system by which cascade control action:

1.PD

2. PI

LFS]

. Either PD or PI

4. Neither PD nor PI

Options :

68634051873. 1
68634051874. 2
68634051875. 3
68634051876. 4

Question Number : 69 Question Id : 68634013131 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U 212U -1 H44 I 215y -2 & G1Rur oA B oo g Fzon i § ufafia feear sarg
1.PD
2. PI
3.91 PD SR TIPI Y

4. 9PDYIRAPIT

Options :

68634051873. 1
68634051874. 2
68634051875. 3
68634051876. 4

Question Number : 70 Question Id : 68634013132 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



. . . . Tl =if2 , ,
The short circuit admittance matrix of a two port network is L v g } . The given two port network is.

1. Non-reciprocal and passive
2. Non-reciprocal and active
3. Reciprocal and passive
4. Reciprocal and active
Options :
68634051877. 1
68634051878. 2

68634051879. 3
68634051880. 4

Question Number : 70 Question Id : 68634013132 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

0
1/2

T <1 U1 URTY BT Y-URRY Hayd 3Hodg & { "U":ﬂ i fean man 31 e aRmy wm R |

. 3fegepH AR Ffspg
3@ 3R Wia
3. ehy AR FsHy

4. epH IR "iby

[y

-2

Options :

68634051877. 1
68634051878. 2
68634051879. 3
68634051880. 4

Question Number : 71 Question Id : 68634013133 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The output of a clocked sequential circuit independent of the input. The circuit can be represented by.

1. Mealy Model

[ )

. Moore Model
3. Either Mealy or Moore Model

4. Neither Mealy nor Moore Model



Options :

68634051881. 1
68634051882. 2
68634051883. 3
68634051884. 4

Question Number : 71 Question Id : 68634013133 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U@ HIaacy i Ry, Faw i MR 78 axan. ahay &1 Fafafed & § o far s e

1. Hicl Aisd

i ox o
3

Options :

68634051881. 1
68634051882. 2
68634051883. 3
68634051884. 4

Question Number : 72 Question Id : 68634013134 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
In a Reaction turbine the length of draught tube is limited by the:

1. Speed of flowing water
2. Strength of material
3. The amount of available discharge
4. Possibility of cavitation

Options :

68634051885. 1

68634051886. 2

68634051887. 3
68634051888. 4

Question Number : 72 Question Id : 68634013134 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



S AT exag- & uard —al & a6k (69 & gRI SifEd $f 9Kl g
1. VaTied ofd &l = o
. terd &t grafdr
. Uds fgui $I aEmd
4. B UG I
Options :
68634051885. 1
68634051886. 2

68634051887. 3
68634051888. 4

[ ]

LFS]

Question Number : 73 Question Id : 68634013135 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The rate of return that an investment provides its investor is classified as:

1. Investment Return Rate

| B

. Internal Rate of Retum
3, International Rate of Return
4. Intrinsic Rate of Return
Options :
68634051889. 1
68634051890. 2

68634051891. 3
68634051892. 4

Question Number : 73 Question Id : 68634013135 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gg Ul 2= Ol U Haw o= (Heve &l Ue &dl § &1 ol (a1 oirar §
1. faer wfcrmt &=

. 3 i &R

. SRR Wil &R

4. =5 gfermmt 3%

Options :
68634051889. 1
68634051890. 2

| ]

LFS]



68634051891. 3
68634051892. 4

Question Number : 74 Question Id : 68634013136 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Low value Resistances can be measured by any one of the following methods:-Ammeter -
Voltmeter method. Kelvins double bridge method and Potentiometer method.

Statement IT: High value Resistance can be measured by any one of the following methods:-Direct deflection
method. Mega-ohm bridge method. Kelving double bridge method.

In the light of the above statements. choose the correct answer from the options Given below:

1. Both Statement I and Statement IT are true

2. Both Statement I and Statement II are false

3. Statement I 1s true but Statement I1 1s false

4. Statement I 15 false but Statement II 1s true

Options :

68634051893. 1
68634051894. 2
68634051895. 3
68634051896. 4

Question Number : 74 Question Id : 68634013136 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



YT [: B T & YR T 590 9 <1 T3 fhdt Y v faf9 g1 a7ar o 9 dn § 3iiex diecHiex faf,
Pica gfa-Uq fafdr 3R favamrdt fafe

B I1: 3 I & YIcRIY Bl o T (ot o uep fafe gy A1an ot wepd1 & wegs faae fafy, Tersiim Ig
fafd, Sfea fd-ag faf

BRI YA & 3MTadld H, A f3U Y faedl § U Tad e Iar &1 99 Sifulu:

1

U1 SR 1 T e R

g 1 9 1 ST e
3. HYT 1 el 5. A HYF 11 TTad ©
4. BYT1TAd 8. AfbT YT I TS

Options :

68634051893. 1
68634051894. 2
68634051895. 3
68634051896. 4

Question Number : 75 Question Id : 68634013137 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ina 3—¢ Induction motor connected to a balanced 3—¢ supply. if one of the lines suddenly gets
discomnected, then the:

A. Motor will come to a standstill.

B. Motor will continue to run at the same speed with line current unchanged.

C. Motor will continue to run at a slightly reduced speed with increased line current.

D. Rotor currents will have both sf and (2-5)f components frequencies where s is slip and £ is the supply
frequency.

Choose the correct answer from the options given below:

1. Aand D only

| )

. A and B only
3.Cand D only

4. B and C only

Options :

68634051897. 1
68634051898. 2
68634051899. 3



68634051900. 4

Question Number : 75 Question Id : 68634013137 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TP 3-¢ WRUIERER § oRl U 9 3-¢ SO0 4 Sl of 9adl ¢ | 1S U@ a5 $[Hd ¢e od dl

A. A W faum & S (39 S
B. TieX Oiafd @g- faggd YR & |1y FH =16 9 et g1

C. AR T¢I 5% A5 fAggd U1 & WY T (9] §) PH 91§ Tadl §
D. TR URT DI GHI of 3R (2-5)f &1 92 il hit | T8l < [y 3R £ F1R01 31gRT §

=1 feu U fasedi § U Ugl IR &1 98- Hifeiu;

1.A3RD
AGRB
3.C3RD
4.B3RC

Options :

68634051897. 1
68634051898. 2
68634051899. 3
68634051900. 4

| )

Question Number : 76 Question Id : 68634013138 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The correct statements are:

A. A thyristor requires turn off circuit while transistor dose not.
B. The voltage drop of thyristor is less than that of a transistor.
C. A thyristor requires a continuous gate current.

D. A transistor draws continuous base current.

Choose the correct answer from the options given below:
1. A and B only
2. Aand D only
3.B and D only

4, A.B. Cand D only

Options :
68634051901. 1



68634051902. 2
68634051903. 3
68634051904. 4

Question Number : 76 Question Id : 68634013138 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SfEd By g

A. TF YTReR &1 U9 9ROy (§¢ B3 ared URYY) BT Sagddl ldl & IR U ifore: &l el
Bidl

B. YTSRex &1 dieed] Ud UH ciforex S HH I §

C. YIS &I TR 71e §RI YR &1 ATa™aHdl sidl &

D. U cifoRex fARaR a9 (3MYR) YRT &1 YU Hdl ¢ (Adl §)

-4 fau Tt fdwedi 7 ¥ g1 SR &1 98 Bifoie:
1.AJRB

LASRD

B3RD

4.A.B.C3IRD

[ )

[¥¥]

Options :

68634051901. 1
68634051902. 2
68634051903. 3
68634051904. 4

Question Number : 77 Question Id : 68634013139 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement I: The net present value (NPV) of the investment is the sum of the present value of the benefits and
cost of the investment.

Statement II: Net present value (NPV) can never be negative.
In the light of the above statements, choose the correct answer from the options Given below:

1. Both Statement I and Statement II are true
2. Both Statement I and Statement II are false
3. Statement I 1s true but Statement I1 1s false

4. Statement [ 1s false but Statement II is true

Options :

68634051905. 1
68634051906. 2
68634051907. 3
68634051908. 4

Question Number : 77 Question Id : 68634013139 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
1 31 By fSY U E:
HU 1 et P99 &1 Je adqm 3F (NPV) IdEH AH a1y SR Y & 50 & 0 & SRIER sIaT 8
HU 11 ¢ Fom g St off Bones 81 8 9danl
SIRIK HY & 3cie |, < Gy Y fasedl ¥ 8 969 Iuga IR &1 99 Sl
1. B 1 3R 11 5H1 Te1 ©
2. HY 1 3R 11 T Tt TeT @
3. YT IR 8. A dUF T §
4. PYF 1T . Afch HYUF 11 TE! ©

Options :

68634051905. 1
68634051906. 2
68634051907. 3
68634051908. 4

Question Number : 78 Question Id : 68634013140 Question Type : MCQ Option Shuffling : No Is Question Mandatory :



No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

+4 — . :
Value of jT“’: if C 1s the circle [Z+1[=1, 1s:

| ]

2mi
4. Zero

Options :

68634051909. 1
68634051910. 2
68634051911. 3
68634051912. 4

Question Number : 78 Question Id : 68634013140 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

J 2;4 dz BT RIEN 3R ¢ TH A E 3R (Z+1)=1,

| 5]

4. Zero

Options :

68634051909. 1
68634051910. 2
68634051911. 3
68634051912. 4

Question Number : 79 Question Id : 68634013141 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



During hunting of Synchronous motor:
1. Negative phase sequence currents are generated

2. Harmonics are developed in the armature circuit

L%

. Damper for develops torque
4. Field excitation increases

Options :

68634051913. 1

68634051914. 2

68634051915.3
68634051916. 4

Question Number : 79 Question Id : 68634013141 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

JeuepTier Hex &l §IeT (3Rde) & IR
1. BUNHS Bl SIHH YR 39 gl &
2. TR IRTY | BRI SIS [abiad 8id 8
3. TR a1 3yl fawfig Hear &

4. &4 309 9¢ Il &

Options :

68634051913. 1
68634051914. 2
68634051915.3
68634051916. 4

Question Number : 80 Question Id : 68634013142 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

A 32:1 MUX can can be designed using:

1. Two 16:1 MUX and one 2-input OR gate

-2

. Two 16:1 MUX and one 2-input AND gate

3. Two 16:1 MUX and two 2-input OR gate

.

. Two 16:1 MUX and two 2-input AND gate

Options :
68634051917. 1
68634051918. 2



68634051919. 3
68634051920. 4

Question Number : 80 Question Id : 68634013142 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U® 32:1 MUX & Hgfeiad & 9 o waim o feoms o o a@ar g
1.1 16:1 MUX 3R U® 2-§9Y¢ (a9 OR e

[ ]

_@16:1 MUX 3R U& 2-599¢ (<) AND 7T
.Gl 16:1 MUX 3R @l 2-3-Ye (Fd=T) oRr7le
4.3 16:1 MUX 3R g1 2-5Y¢ (F/d=1) AND 712

LFS]

Options :

68634051917. 1
68634051918. 2
68634051919. 3
68634051920. 4

Question Number : 81 Question Id : 68634013143 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
An ethanol operated engine produces an compound to the petrol operated engine.

1. 50% more power
2. 20 % more power
3. Comparable amount of power
4. 50% less power

Options :

68634051921. 1

68634051922. 2

68634051923. 3
68634051924. 4

Question Number : 81 Question Id : 68634013143 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



U AT waferd gioH, Ush ucial U=ierd Sfor @l srda (o o) Sad Hdl gl
1. 50%3{T9%® Tfaa
.20 % e Qfda

[ ]

3. Jer-iig A1 S Aidd
4. 50% HH fed

Options :

68634051921. 1
68634051922. 2
68634051923. 3
68634051924. 4

Question Number : 82 Question Id : 68634013144 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Statements which 1s the true regarding time value of money concepts is:

1. Money received today 1s worth the same as money received in the future.

J

. Money received today is worth more than money received in the future.
3. Money received today is worth less than money received in the future.
4. Money paid today is worth the same as money paid in the future.

Options :

68634051925. 1
68634051926. 2
68634051927. 3
68634051928. 4

Question Number : 82 Question Id : 68634013144 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

qEp Y ol G&1 & SIdia AF Sded & U 9 § 9T

1. SATST 9T 1 715 Gl T Heed (Het) Hfa™r 79I &1 715 4ol & 91 §
. 3Tel YT &1 715 &l 1 Hed (Jed) Hidw O Ui &1 118 gal 3 3iftie §
3. 3T YT B 775 Gl BT HEed () HiasT & W 1 75 Gl 4 $A ©

[ ]

4. TS 31 B} T8 Yol b1 Jgd (Yoo) Uids T Ui &1 715 951 & 991 §

Options :
68634051925. 1



68634051926. 2
68634051927. 3
68634051928. 4

Question Number : 83 Question Id : 68634013145 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Two Random Variable x and y are distributed according to.

£ (5.) [(x+¥), O=x=L0<ys]
e yl®¥) =3 :
o |0, otherwise

The Probability P (x +y < 1) 1s:

,_.
[ |

[ )
(PSR

=

b | —

Options :

68634051929. 1
68634051930. 2
68634051931.3
68634051932. 4

Question Number : 83 Question Id : 68634013145 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



&I OEfS® =R x 3R y. $HD SF9R [Gdkd g

C[(x+y), 0<x<10<y<]

o, 3

ey (%:2)

WSl P(x+v 1) 8

,_.
La | b2

| ]

= g | -

b | —

Options :

68634051929. 1
68634051930. 2
68634051931.3
68634051932. 4

Question Number : 84 Question Id : 68634013146 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The solution of x partial differential equation

U(x . 0)= 6e ¥

1. U=6e >
2. U=6e =2
3 : U=6 63}{"2'(
4, U=6e ¥

Options :

68634051933, 1

68634051934, 2

68634051935.3
68634051936. 4

Question Number : 84 Question Id : 68634013146 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
IR 3gehel FHIBI x

N
ol ol
=2 +[J
fis Of

UBI Pl Ulx. 0)=6¢ *DIEAT

1. U=6e -2t
2. U=6e %
3. U=6e*7
e

Options :

68634051933. 1

68634051934. 2

68634051935.3
68634051936. 4

Question Number : 85 Question Id : 68634013147 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Skewing 1s used in Induction motor in order to reduce the torque due to:

1. Time harmonics
2. Space harmonics
3. Slot harmonics
4. Reverse rotating fields

Options :

68634051937. 1

68634051938. 2

68634051939. 3
68634051940. 4

Question Number : 85 Question Id : 68634013147 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TR Hiex 1 [quaRii (Fage) &1 WaIT {dhud gRI Sdd ad 3MTYU| &l & SR & (AU [dd1 o1l 6 |
1. BTE D (FTHITD)
e wes @Eib®)

. @1 SIS (BHIMD)

. fareite wuif &=

[ ]

LFS]

=,

Options :

68634051937. 1
68634051938. 2
68634051939. 3
68634051940. 4

Question Number : 86 Question Id : 68634013148 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The cut-off frequency (f,) of a second-order Butterworth filter
(Given Ry= 27 kQ, Rg=15.8 kQ, R,=R;=3.3kQ and C2-C3=0.047 4F .)

1. 1000 HZ

| ]

100 HZ
3.10HZ

4. 1HZ

Options :

68634051941. 1
68634051942. 2
68634051943. 3
68634051944. 4

Question Number : 86 Question Id : 68634013148 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U fgdd o1 aexad ftheex $1 3ide SMTail 71 1 [Sa1 1 8: R = 27 kQ. Rp=15.8 kQ R,=R;=3.3kQ

IRC2 =C3=0.047 pF )
1. 1000 HZ
2. 100 HZ
3. 10HZ

4. 1HZ



Options :

68634051941. 1
68634051942. 2
68634051943. 3
68634051944. 4

Question Number : 87 Question Id : 68634013149 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If V,=Sin (2mx10°t) sinusoidal signal is applied at the input of an op-amp differentiator circuit then the output
voltage is given as:- (Given R=1.5 k& and C=0.1 pF).

1. Vy=0.94 Cos 2r x 10° 1)
2. Vo =-0.94 Cos (21 x 10° 1)
3. Vy=-0.94 Sin (2 x 10° 1)
4.Vy=10.94 Sin (21 x 10%t)

Options :

68634051945 1

68634051946. 2

68634051947. 3
68634051948. 4

Question Number : 87 Question Id : 68634013149 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gfd v =Sin (2nx10°t) .UP SUIG[hT Hbd DI TP op-amp HdPH e URTY & A IR SIUgdd fHar o
g df i famaemn gl ofg R=1.5 kQ 3R C=0.1 uF).

1. Vo =0.94 Cos (21 * 10° 1)
2. Vy=-0.94 Cos (21 = 10° 1)
3. Vy=-0.94 Sin (2 x 10° t)
4.Vy=0.94 Sin (2n x 10° t)

Options :

68634051945. 1

68634051946. 2

68634051947. 3
68634051948. 4

Question Number : 88 Question Id : 68634013150 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Diameter of a wind turbine 1s 3m. width of blade 20em and number of blades as 20. The solidity factor for
this wind turbine 1s:

1.0.0435
2.4.25
3.0.425
4.0.0425

Options :

68634051949. 1
68634051950. 2
68634051951. 3
68634051952. 4

Question Number : 88 Question Id : 68634013150 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U UaH (919) TRAT5 &1 ¥ 3 Hiex 6. &8 (U9) 1 diers 20 9.1, SR &is (dan @i 9@ 20 g
UaH eI @ fie Ui (@7D) B

1. 0.0435

2.4.25

3.0.425

4. 0.0425
Options :
68634051949. 1
68634051950. 2

68634051951. 3
68634051952. 4

Question Number : 89 Question Id : 68634013151 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The Ghawar oilfield discovered in 1948 is located in:

1. Iran

| ]

.USA
3, Saudi Arabia
4. Iraq

Options :
68634051953. 1



68634051954. 2
68634051955.3
68634051956. 4

Question Number : 89 Question Id : 68634013151 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
gaR 0a &7 forT AR 1048 H g3 T, Fel Rua
13X
2. qTHY
3. 34l 3Rd
1. 7P

Options :

68634051953. 1
68634051954. 2
68634051955. 3
68634051956. 4

Question Number : 90 Question Id : 68634013152 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Primary detector type transducers employed for displacement measurement are:

A. Thermistor

B. Diaphragm

C. Thermocouple

D. Pivot Torque

E. Capacitive displacement transducer

Choose the correct answer from the options given below:
1.A.B and E only
2.B and D only
3.B.D and E only

4. A.D and E only

Options :

68634051957. 1
68634051958. 2
68634051959. 3
68634051960. 4

Question Number : 90 Question Id : 68634013152 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

WU HYAD YPR & C-SUER o [GRITI= HIUH & (o0 Fged f[bar e gl d g

A ™ gicRiy®
B. TUC (STUWHIH)

- fSu U [doredl | ¥ 9gi 3U= &1 944 Bl

1.A.B3IRE
2.B3IRD
3.B.D 3R E
4.A.D3RE

Options :

68634051957, 1

68634051958, 2

68634051959. 3
68634051960. 4

Question Number : 91 Question Id : 68634013153 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
(Tspe of motors) {(Application)
A |Stepper motor I. |Refrigerator compressos
B. |[Universal motor II. |[Computer printer
C. |Shaded pole motor III. [Sewing machine
D. |Capacitor and capacitor run Inductor motor | IV. [Photo coping machine

Choose the correct answer from the options given below:

1. A-III, B-IV. C-II. D-I

| ]

CA-IL B-III, C-I, D-IV
3. A-IL, B-III, C-IV. D-I
4. A-III. B-1II. C-IV. D-I

Options :

68634051961. 1
68634051962. 2
68634051963. 3
68634051964. 4



Question Number : 91 Question Id : 68634013153 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I 1 61 =l 11 ¥ fiaH Sife

a1 TR 11
(HIEX & TFR) (3TN
A R AR 1. Ritpeleey guifea
B. [Ga7 AeX 11 [frgex el
C. [aama urd dieX 111 [F&eTrs @f 7=
D. [Henfea S G91E gR1 9ald & arcll W Jiel| IV, il ddl (Wideiidn) 0
fafeiad faeedl o O 98! STk &1 904 P ;

1. A-ITT. B-1IV. C-II. D-1
2. A-Il. B-III. C-1. D-IV
3. A-II. B-ITI. C-IV. D-I
4. A-III. B-I1. C-IV. D-1

Options :

68634051961. 1

68634051962. 2

68634051963. 3
68634051964. 4

Question Number : 92 Question Id : 68634013154 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
SCR Rating Protective element
A |di/dt limit I. | Snubber
B |dv/dt imit IT. | Heat Sink
C. |2t timat IIT. |Series Reactor
D. Punction Temperature Limit | IV. [Fuse

Choose the correct answer from the options given below:
1. A-IIL B-II. C-IV. D-I
2. A-L B-IV. C-I1. D-III
3. A-IIIL B-IV. C-11. D-1
4. A-IT1. B-1. C-IV. D-II

Options :



68634051965. 1
68634051966. 2
68634051967. 3
68634051968. 4

Question Number : 92 Question Id : 68634013154 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I 1 BT I 11 U e Sifey
T 1 T 1
A |gvar g L [qedl 39 Saeiud
B. |dv/dt HIHT 1L [3FAT ST
C. [i2e 11 [guft RlgeR
D[S agaH 94| V. [§areH
Frafefad fdeedi & 9 9l IR &l 94+ I ;

1. A-II1, B-II. C-IV. D-I
2. A-L B-IV, C-11. D-II1
3. AL B-IV. C-1I1. D-1
4. A-III. B-1. C-IV, D-II

Options :

68634051965. 1
68634051966. 2
68634051967. 3
68634051968. 4

Question Number : 93 Question Id : 68634013155 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The correct statements are:

A. Energy payback time (EPBT) should be less than life of PV System

B. Life cycle conversion efficiency (LCCE) should be less than one

C. Energy production factor (CEPF) on life time basis should be more than one

D. Carbon emission is more if electrical power is generated by PV in comparision to the electrical power
generated by conventional power plant

Choose the correct answer from the options given below:

1. A and C only

-

. A and B only
3. A.B and C only

4. A. B and D only

Options :

68634051969. 1
68634051970. 2
68634051971. 3
68634051972. 4

Question Number : 93 Question Id : 68634013155 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

el Y g

A. 391 T 999 (EPBT). PV 04 & oiidd & &Y &A1 ANl

B. Gﬂﬂ?{ﬂﬂﬂ?ﬂﬁ?ﬂ?{&iﬁ (LCCE). 1 4 ®H g1 d@1fgU

C. Sl 3G PRSP (CEPF) SIa- BTA & YR R 1 § eI g1 =gl

D. URYIRS 36l §44 §RI 307 a5gd Sl &I qarl 1. PV 5RI 304 dagd Sl 1 Bla- Bl Seol

3fYep Bl |
i feu U faeedi § T 9gl IR &1 98- Difolg;
LASRC
A3RB
3.A.BERC

4. A.B3RD

b2

Options :

68634051969. 1
68634051970. 2
68634051971. 3
68634051972. 4



Question Number : 94 Question Id : 68634013156 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Consider the correct statements:

A. Both voltage source inverter and current source inverter require feed back diode.
B. Only current source inverter require feedback.

C. GTO can not be used in a current source inverter.

D. Only voltage source inverter requires feedback diode.

Choose the correct answer from the options given below:
1. A only
2. B and C only
3.Cand D only
4. D only

Options :

68634051973. 1
68634051974. 2
68634051975. 3
68634051976. 4

Question Number : 94 Question Id : 68634013156 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

el dYT U

A, &I faua i Uidaige SR w@id Uiaae® o] 1R s/His & siavasdl gldl o
B. $ad YRI Wid Hidadd GTHRUl SUS] & Sawadhdl gldl o

C. GTO &1 YRT ¥did UfdeliHd d YgHT el a1 & dbdl

D. Had [qya Wid Widams d TR0l STa1S ® $awaddl il 6

+d feu u f[deedl § € 98l 3R &1 904 Hifoig;

1. Had A
2. HaaAB AR C
3. HadC ARD
4. Had D

Options :

68634051973. 1

68634051974 2

68634051975. 3
68634051976. 4




Question Number : 95 Question Id : 68634013157 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The eigenvectors of the matrix are:

| ]
it |
TR
-
. ey
-~
-
-~

Options :

68634051977. 1
68634051978. 2
68634051979. 3
68634051980. 4

Question Number : 95 Question Id : 68634013157 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e & SHeiore afew &1 82

Options :
68634051977. 1



68634051978. 2
68634051979. 3
68634051980. 4

Question Number : 96 Question Id : 68634013158 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT classification of oscillators on the basis of frequency range over which they are used.

LISTI LISTII
{(Type of Oscillators) {(Frequency Range)
lAudio Frequency (AF) oscillatory 1 |20 KHZ - 30MHZ
F.adio frequency (RF) oscillators | I1. |1.5 MHZ - 30MHZ
[Video frequency (VF) oscillators | II1. 20HZ - 20EHZ
High frequency (HF) oscillators | IV, |dc - SMHZ

o c[w|»

Choose the correct answer from the options given below:

1. A-III. B-II. C-I. D-IV
2. A-IIL. B-IV, C-II. D-I
3. AL B-1. C-IV. D-II
4. A-III. B-I1. C-IV. D-I

Options :

68634051981. 1

68634051982. 2

68634051983. 3
68634051984. 4

Question Number : 96 Question Id : 68634013158 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T 1 1 Gl 11 9 o sifey

I II
EET T TPR) (g o)
8jo H1dfd Gidid (AF) | L [20 KHZ - 30MHZ
RSt 3mgid ala® RE) | 11 |1 5 MHZ - 30MHZ
difSal 2l gidd (vF)| 1. POHZ - 20KHZ

3= G Gled (HF) | IV Jde - SMHZ

frafafad famed & T 9l SR &1 98- DI -

1. A-IIL. B-II. C-1. D-IV

ofe]w]-

2. AL B-IV. C-I1. D-1
3. A-IIL. B-1. C-IV. D-I1
4. A-II1. B-1IL. C-IV. D-I

Options :

68634051981. 1
68634051982. 2
68634051983. 3
68634051984. 4

Question Number : 97 Question Id : 68634013159 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
(Nature of Response) {Condition for Response)
] Sum of steady- state and transient

A |Steady-state response| L
response

B. |Transient response II. [Response of a system for impulse input

& sl cesgionss L Part of response which approaches zero
s t —oo

Part of response which does not approach

D. |lmpulse response V.
Fero ast —owo

Choose the correct answer from the options given below:
1. A-IV. B-L. C-III. D-II
2. A-11. B-I11, C-1, D-IV
3. A-II. B-1. C-III, D-IV
4. A-IV. B-1IL. C-1. D-II
Options :

68634051985. 1
68634051986. 2



68634051987. 3
68634051988. 4

Question Number : 97 Question Id : 68634013159 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 11 g4 11 9 faH ifey
il T
(SIforaT T Upe) 3o i Ruf
A [eurd argen sfba| 1| saw SR geawir STl 1 O
B |smerd safpa | 11 o 93 @1 st o & faw s
C. [d afshar 111 |3ifch a1 1 gg HIF Sl I DI JYTHF Dl § od t —=
D. [317a7it SiTfspar 1V |3/ %1 @1 a8 3 off I @1 ST T8l Bl & ol 1= oo

fafciRad fdsedi § I T8l IR &l 944 Difeiu -

1. A-IV, B-I, C-IIL, D-II
2. A-II, B-III, C-I, D-IV
3. AT B, CLIIT, DAV
£ AINCBL, & Do

Options :

68634051985. 1

68634051986. 2

68634051987. 3
68634051988. 4

Question Number : 98 Question Id : 68634013160 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII
1-03 rectifier topology feeding resistive load| Oiustpist Voltige
2V peak
A |Controlled half wave I | ——cos
i
5 n | V peak
B. |Semi-controlled II.
T
_ V' peak
C. |Controlled full wave III. (1+cos a J
5% :
. NV peak
D. [Uncontrolled-half wave v 5 (I+cosa)
T

Choose the correct answer from the options given below:

1. A-II1. B-1. C-1I. D-IV
2. AL B-1IL. C-1. D-IV
3. A-IV. B-1I., C-1. D-ITI
4. A-IV. B-II. C-I11, D-1

Options :

68634051989. 1

68634051990. 2

68634051991. 3
68634051992. 4

Question Number : 98 Question Id : 68634013160 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T 1 1 Gl 11 9 o sifey

S
T I
(1-p- FepeR vt Favor ufarid @)
2V peak
A [FHga sl L | 2 s
T
; V peak
B. |38 A I
T
: : V peak
C. ﬁtﬂﬂf@ﬂw I ped (1+cosa)
T
: . V peak
D. |HEREE sreia v gca (1+cos a)
= ik

fFafafad [deedi § O 98t STk &1 99 I

1. A-TII. B-1. C-I1. D-IV

[ B

AL B-ILL, C-IL D-IV

LFS]

ATV, B-I1, C-1. D-III
4. A-IV. B-11. C-I11, D-I

Options :

68634051989. 1
68634051990. 2
68634051991. 3
68634051992. 4

Question Number : 99 Question Id : 68634013161 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

For HVDC transmission Line the auxiliary components are:

A. D.C Line inductor

B. A.C Line inductor

C. Series capacitance on A.C line
D. Distance relays on D.C. line
E. Reactive power sources

Choose the correct answer from the options given below:

1.A.B.Donly

[ ]

.A.E only
3.A.C.D only

4. B. C only



Options :

68634051993. 1
68634051994. 2
68634051995. 3
68634051996. 4

Question Number : 99 Question Id : 68634013161 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HVDC TR0 @159 & 0. T80 RS &

A.D.C @29 W&
B. A.C g4 IR
C. &uiiehd YTRALA.C TR

D. D.C. Tlgd W gl et (wfdaom)
E. Afyfepan 2fta 3ot (@fen) @i

14 fau T fawedl 7 8 96l IR &1 90 B

1.A.B.D
2iAE
3JJACD
4.B.C

Options :

68634051993. 1

68634051994. 2

68634051995. 3
68634051996. 4

Question Number : 100 Question Id : 68634013162 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LIST1I LISTII
A 1973 o1l crisis [ [The Gulf War
B. |1979 energy crisis II. |The Iranian revolution
C. [1990 spike in the price of oil 11 |JAn OPEC oil export embargo
D ZCI_DQ-EGG]. California electricity v Failed {}eregulation and business
Crisis corruption

Choose the correct answer from the options given below:

1. A-II. B-III. C-IV. D-1

[ ]

CA-L B-II. C-III, D-IV

L#N]

ATV, B-ITLL C-I1, D-1
4. A-III. B-11. C-1. D-I

Options :

68634051997. 1
68634051998. 2
68634051999. 3
68634052000. 4

Question Number : 100 Question Id : 68634013162 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=il 1 o1 941 11 9 fiaH iy
T 1 T 1
A [1973 9o Ude L [@rel 4w
B [1979 391 ¥&e 11 [53H @1 wifd
C. [dd o 7= | 1990 H did gsi 1L [0 OPEC del -aid HiaRle (Hus))
D [2000-2001, HIAHIHTI degd ddhe| IV [AMUR YPHER AR JHgHd@E § Hghad]

Fafaiad 9wl & 3 91 IR &l 994 ST .

1AL BOOL, €IV, D4
2. A-I, B-IL, C-IIL, D-IV
3. A-IV. B-III, C-II, D-I
4. A-IMI, B-IL, C-I, D-1

Options :

68634051997, 1

68634051998, 2

68634051999. 3
68634052000. 4



